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QUESTION 1

Which profile parameter controls whether an ICM process is also started when an application server is started?
A. icm/HTTP/rdisp/starticman*

B. icm/HTTP/rdisp*

C. rdIsp/start_icman

D. Icm/HTTP/start_icman*

E. Icm/server_port_

Correct Answer: C

QUESTION 2

Identify the activity that is not performed by Installation Check, Which statement is correct? (Please choose one correct
answer)

A. Completeness of installation

B. Network security

C. Accessibility of the message server
D. Version compatibility

Correct Answer: B

QUESTION 3

Tp and the background jobs needed for transports, communicate using table (Please choose one correct answer)
A. RDDMASGL

B. RDDVERSL

C. RDDGENDB

D. TRBAT

Correct Answer: C

QUESTION 4

What are the tools that TMS provides various tools with which you can monitor transport activities in your transport
domain? Which statements are correct? (More than one answers are true]
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A. RFC connection test

B. Import monitor

C. Transport control program check
D. Import queue consistency check
E. Transport directory check

Correct Answer: BD

QUESTION 5

The central instance of an AS ABAP+Java system can be recognized by the following processes: (More than one
answers are true)

A. enqueue work process
B. Java-MS

C. Java-ES

D. SDM

E. ABAP-ES

F. ABAP-MS

Correct Answer:. ADF

QUESTION 6

What is the transaction code to delete a client? (Please choose one correct answer)
A. SCC4

B. SCC3

C. SCC5

D. SCC9

E. SCC1

Correct Answer: C

QUESTION 7

if for any reason deletion of the trigger via HANA Studio is not possible, triggers can be deleted
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A. via transaction [IUUC_REMOTE in the source system

B. via transaction IUUC_STOP in the source system

C. via transaction [UUC.STOP directly on the database

D. via transaction [IUUC_REMOTE directly on the database

Correct Answer: C

QUESTION 8

How can you achieve that a change request containing only one ABAP program from the DEV system will be imported
into several clients of the QAS system? (More than one answers are true)

A. It is impossible to achieve this with TMS

B. By using client dependent transport routes

C. By using transport target groups

D. By defining different consolidation routes pointing from the DEV system to the QAS system

Correct Answer: B

QUESTION 9

tp commands are executed in the transport subdirectory (Please choose one correct answer)
A. Bin

B. log

C. BUFFER

D. EPS

E. COFILES

Correct Answer: A

QUESTION 10

To recover a SAP HANA database you have to perform the following steps: Which step is wrong?
A. Specify the data and log backup directories

B. The database is restarted automatically after the recovery

C. Choose the recovery type
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D. Confirm that the system is ON
E. Specify the relevant data backup

Correct Answer: B

QUESTION 11

The ISC is configured using which profile parameter?
A. icm/HTTP/rdisp*

B. icm/server_port_

C. icm/HTTP/server_cache*

D. icm/HTTP/start_icman*

Correct Answer: C

QUESTION 12

Which of the following statements regarding the client concept and the client copy tools in ABAP-based SAP Systems
(for example, SAP ECC) are true? (Choose three)

A. Application data can only be copied from one client to another, when all client-specific customizing is also copied.
B. Clients can be copied between SAP Systems of the same release.

C. Client-independent customizing is always automatically copied between clients.

D. User master records cannot be copied between clients.

E. Clients can be copied within a single SAP System.

Correct Answer: ABE

QUESTION 13

Which tools can you use to administer an SAP ITS standalone? (More than one answers are true)
A. Transaction SITS in the SAP system

B. Microsoft Management Console with the SAP ITS Snap-In

C. ITS Administration Tool

D. WGate configuration tool

Correct Answer: CD
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QUESTION 14

Which Typical Access Technology will use SAP Business ByDesign? Please choose one correct answer

A. SAP GUI for Windows (GUI = Graphical User Interface)

B. SAP NetWeaver Business Client

C. Browser-based interface (different browsers possible)

D. Browser-based interface (different browsers possible) BEx Analyzer (additionally requires Excel on the front-end)

Correct Answer: A

QUESTION 15

Which Typical Access Technology will use SAP ERP (with SAP ECC)? Please choose one correct answer

A. SAP GUI for Windows (GUI = Graphical User Interface)

A. Browser-based interface (different browsers possible) BEx Analyzer (additionally requires Excel on the front-end)
B. SAP NetWeaver Business Client

C. Browser-based interface (different browsers possible)

Correct Answer: A
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